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	Q1.
	A transistor may be used as a switching device or as a

	Option A:
	fixed resistor

	Option B:
	tuning device

	Option C:
	rectifier

	Option D:
	variable resistor

	
	

	Q2.
	Which of the following statement is correct with respect to a transistor action.

	Option A:
	The emitter junction is reversed biased and collector junction is forward biased

	Option B:
	Base, emitter and collector region should have same doping concentrations

	Option C:
	Both emitter junction and collector junction are forward biased

	Option D:
	The base region should be very thin and lightly doped

	
	

	Q3.
	In BJT the heavily doped terminal is___________and largest size terminal is___________  

	Option A:
	Collector, Emitter

	Option B:
	Base,  Collector

	Option C:
	Emitter, Collector

	Option D:
	Base, Emitter

	
	

	Q4.
	The phase difference between the input and output voltages in a common emitter arrangement is ……………

	Option A:
	180°

	Option B:
	270°

	Option C:
	90°

	Option D:
	0°

	
	

	Q5.
	In a BJT if β = 100 and collector current is 10 mA, then the value of emitter current will be…………

	Option A:
	100.1 mA

	Option B:
	100 mA

	Option C:
	110 mA

	Option D:
	110.1mA

	
	

	Q6.
	In an LC oscillator, the frequency of the oscillator is……………… L or C.

	Option A:
	Inversely proportional to the square root of

	Option B:
	Proportional to square of

	Option C:
	Directly proportional to

	Option D:
	Independent of the values of

	
	

	Q7.
	The amplifier shown in the figure is operating as __________amplifer with efficiency of _________.
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	Option A:
	Class B , 70 %

	Option B:
	Class A , 50%

	Option C:
	Class C,  85%

	Option D:
	Class AB, 70%

	
	

	Q8.
	Output impedance and CMRR of ideal OP-AMP respectively is

	Option A:
	Infinity, Infinity

	Option B:
	Zero, Zero

	Option C:
	Zero, Infinity

	Option D:
	Infinity, Zero

	
	

	Q9.
	What will be the slew rate of an OP-AMP whose output changes by 5 V in 10 μs?

	Option A:
	 1 V/μs

	Option B:
	0.5 V/μs

	Option C:
	50 Vμs

	Option D:
	10 V/μs

	
	

	Q10.
	The common mode gain of an OP-AMP is 

	Option A:
	very high

	Option B:
	very low

	Option C:
	always unity

	Option D:
	unpredictable

	
	

	Q11.
	For an OP-AMP in inverting amplifier mode input voltage applied is 0.5 mV, R1=1KΩ, Rf= 10KΩ. What will be the value of output voltage?

	Option A:
	1 mV

	Option B:
	5 mV

	Option C:
	- 1 mV

	Option D:
	-5 mV

	
	

	Q12.
	A noninverting OP-AMP has Ri of 1 kΩ and Rf of 100 kΩ. The closed-loop voltage gain is ………

	Option A:
	100

	Option B:
	101

	Option C:
	1001

	Option D:
	10000

	
	

	Q13.
	In the case of AM signal if the modulation index changes from 0.8 to 1. How much increment in transmitted power is observed?

	Option A:
	0.4856

	Option B:
	1.188

	Option C:
	0.15

	Option D:
	0.1364

	
	

	Q14.
	Calculate the Nyquist rate for sampling when a continuous time signal is given by x(t) = 7 cos 100πt +15 cos 200πt – 20 cos 300πt

	Option A:
	600Hz

	Option B:
	300Hz

	Option C:
	150Hz

	Option D:
	400Hz

	
	

	Q15.
	A modulating signal m(t)=10 cos⁡(2π×10^3 t) is amplitude modulated with a carrier signal c(t)=15 cos(2π×10^5 t). The percentage modulation index and bandwidth respectively will be 

	Option A:
	66.67%, 2KHz

	Option B:
	100%, 2KHz

	Option C:
	66.67%, 4KHz

	Option D:
	75%, 4KHz

	
	

	Q16.
	In SSBSC modulation when the carrier power is 120W and the modulation index  is 60%.The power in one of the sideband will be

	Option A:
	88.8W

	Option B:
	10.8W

	Option C:
	36.45W

	Option D:
	12.6W

	
	

	Q17.
	The function of frequency mixer in superheterodyne receiver is

	Option A:
	Noise removal

	Option B:
	Amplification

	Option C:
	Noise removal and Amplification

	Option D:
	Multiplication of incoming signal and the locally generated carrier

	
	

	Q18.
	Granular noise occurs when

	Option A:
	Step size is too large

	Option B:
	Step size is too small

	Option C:
	Bandwidth is too large

	Option D:
	There is interference from the adjacent channel

	
	

	Q19.
	In FDM, if six signals have to be multiplexed then at least __________ carriers each of different frequencies, must be modulated. 

	Option A:
	Five 

	Option B:
	Six

	Option C:
	Twelve

	Option D:
	Ten

	
	

	Q20.
	One of the biggest disadvantage of PCM is

	Option A:
	the high error rate introduced by its quantizing noise 

	Option B:
	its inability to handle analog signal

	Option C:
	its incompatibility with TDM

	Option D:
	the large bandwidths that are required for it   

	
	

	Q21.
	In delta modulation, __________bit/bits per sample is/are transmitted and the step size is __________.

	Option A:
	more than one, fixed

	Option B:
	one, fixed 

	Option C:
	one, variable

	Option D:
	more than one, variable

	
	

	Q22.
	In which method of modulation synchronization is required between transmitter and receiver

	Option A:
	PAM

	Option B:
	PPM

	Option C:
	PWM

	Option D:
	AM

	
	

	Q23.
	Find entropy of a source emitting symbols x, y, z with probabilities of 1/5, 1/2, 1/3 respectively.

	Option A:
	1.497 bits/symbol

	Option B:
	1.5 bits/symbol

	Option C:
	2.5 bits/symbol

	Option D:
	1.497 symbols/bit

	
	

	Q24.
	The amount of information if probability, pk = ¼

	Option A:
	4 bits

	Option B:
	2 bits

	Option C:
	1 bit

	Option D:
	5 bits

	
	

	Q25.
	What will be the information rate if the average information is 1.8 bits/message and message transmission rate is 2B messages/second?

	Option A:
	3.6 B seconds/bit

	Option B:
	3.6 bits/second

	Option C:
	1.8B bits/second

	Option D:
	3.6 B bits/second
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